
TEST	ESERCITAZIONE	n.	6	
	

1. 	Indicare	il	reagente	mancante	(1)	nella	seguente	reazione.	
	

	
	
A	 NH2OH.	 	 B	 NH3,	poi	H2O.	C	 CH3NH2.	 	 D
	 H2O,	poi	NH3.	

2. 	Indicare	quale	composto	forma	un	acetale	per	trattamento	con	metanolo	e	acido	
solforico.	

(1)	Acido	acetico;	(2)	Propanale.	
	
A	 1	=	Sì;	2	=	Sì.	 	 	 	 	 B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

3. 	Indicare	il	tipo	di	composto	che	si	ottiene	per	reazione	tra	la	metilammina	e	l’acetone.	
	
A	 Un	sale	d’ammonio.	 	 	 	 B	 Un’ammide.	
C	 Un	acetale.	 	 	 	 	 D	 Un’immina.	

4. 	Indicare	la	corretta	notazione	della	reazione	di	protonazione	dell’acetone.	
	

	
	

1
N

OH
O

+

O H+

A B

O
H+

C D

O H+ O H+


